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#

# side chain set A

#

[Xx]clcceecl
[Xx]Cclcceecl
C([Xx])Cclcceecl
[Xx]clnc2ccece2nl
[Xx]clceee2nencl2
[Xx]clcee2nenc2cl
clccc2e(cl)nen2[XxX]
clec([Xx])c2nenc2cl
clcc2nenc2cecl[XX]
cl2ccceclne(n2)CCIXX]
cl2cccecln(cn2)CCIXX]
cl2ncnclc(ccc2)CCIXX]
cl2ncnclce(cc2)CCLXX]
cl2ncnclcec(c2)CCIXX]
cl2ncnclcccc2CCIXX]
[Xx]Cclnc2cceec2nl
[Xx]Cclccee2nencl2
[Xx]Cclcce2nenc2cl
cl2ncnclec(cc2)CIXX]
c12ncnclc(C[Xx])cce2
cl2cccecln(cn2)CIXX]
c1([Xx])nc2cceec2nlC=C
clnc2c([Xx])ccee2n1C=C
clnc2ce([Xx])ccc2nlC=C
clnc2cec([Xx])cc2nlC=C
clnc2ceec([Xx])c2n1C=C
clnc2ceceee2nlC([Xx])=C
clnc2ccccc2n1C=C[Xx]
clnc2ceece2n1C=C[Xx]
c1([Xx])nc2ccec(C=C)c2nl
clnc2ceec(C=C)c2nl[Xx]
clnc2c([Xx])cecec(C=C)c2nl
clnc2ce([Xx])cc(C=C)c2nl
clnc2cec([Xx])c(C=C)c2nl
clnc2ccec(C(=C)[Xx])c2nl
clnc2ceec(C=C[Xx])c2nl
clnc2ccec(C=C[Xx])c2nl
c1([Xx])nc2ccec(C=C)c2nl
clnc2ceec(C=C)c2nl[Xx]
clnc2c([Xx])cce(C=C)c2nl
clnc2cc([Xx])cec(C=C)c2nl
clnc2cec([Xx])c(C=C)c2nl
clnc2ceec(C(=C)[Xx])c2nl
clnc2ceec(C=C[Xx])c2nl
clnc2ccec(C=C[Xx])c2nl
cl([Xx])nc2ccec(C=C)cc2nl
clnc2ccc(C=C)cc2nl[Xx]
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clnc2ce(C=C)cc([Xx])c2nl
clnc2ce([Xx])c(C=C)cc2nl
clnc2cec(C=C)c([Xx])c2nl
clnc2cce(ce2nl)C([Xx])=C
clnc2cec(C=C[Xx])cc2nl
clnc2ccc(C=C[Xx])cc2nl
cl([Xx])nc2cecec(C=C)cc2nl
clnc2ccc(C=C)cc2nl[Xx]
clnc2ce(C=C)cc([Xx])c2nl
clnc2ce([Xx])c(C=C)cc2nl
clnc2ccc(C=C)c([Xx])c2nl
clnc2cec(ce2nl)C(=C)[XX]
clnc2ccc(C=C[Xx])cc2nl
clnc2cec(C=C[Xx])cc2nl
C([Xx])=Cclccecccl
C([Xx])=Cclcccecl
C=C([Xx])clcceecl
C=Cclcccecl[Xx]
C=Cclccce([Xx])cl
C=Cclccc([Xx])ccl
C=Cclcccc([Xx])cl
C=Cclcceccl[XX]

[Xx]C

C(O)[Xx]

CC([Xx])C

CCC[Xx]

C(=0O)[Xx]

C([Xx])=CC

C([Xx])=CC

C=C([Xx])C

C=CC[XX]

#

# side chain set B

#

[Xx]clcceecl
[Xx]Cclcceecl
C([Xx])Cclcceccl
[Xx]clnc2ccece2nl
[Xx]clceee2nencl2
[Xx]clcce2nenc2cl
clccc2e(cl)nen2[XxX]
clee([Xx])c2nenc2cl
clcc2nenc2ecl[XX]
cl2ccceelne(n2)CCLXX]
cl2cccecln(cn2)CCIXX]
cl2ncnclc(ccc2)CCIXX]
cl2ncnclec(cc2)CCIXX]
cl2ncncleec(c2)CCIXX]
cl2ncnclcccc2CCLXX]
[Xx]Cclnc2cceec2nl
[Xx]Cclccee2nencl2
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[Xx]Cclccec2nenc2cl
cl2ncnclec(cc2)CIXX]
cl2ncnclc(C[Xx])ccc2
cl2cccecln(cn2)CIXx]
C([Xx])=Cclcccecl
C([Xx])=Cclccececl
C=C([Xx])clcceecl
C=Cclccceecl[Xx]
C=Cclccce([Xx])cl
C=Cclccc([Xx])ccl
C=Cclccce([Xx])cl
C=Cclcceecl[XX]
[Xx]C

C(O)[Xx]

CC([Xx])C

CCC[Xx]

C(=O)[Xx]

C([Xx])=CC
C([Xx])=CC
C=C([Xx])C

C=CC[XX]

#

# side chain set C

#

[Xx]clcceecl
[Xx]Cclcceecl
C([Xx])Cclcceccl
[Xx]clnc2ccece2nl
[Xx]clceee2nencl2
[Xx]clcee2nenc2cl
clccc2e(cl)nen2[XxX]
clec([Xx])c2nenc2cl
clcc2nenc2cecl[XX]
cl2ccceelne(n2)CCIXX]
cl2cccecln(cn2)CCIXX]
cl2ncnclc(ccc2)CCIXX]
cl2ncnclcc(cc2)CCLXX]
cl2ncnclcec(c2)CCIXX]
cl2ncnclcccc2CCIXX]
[Xx]Cclnc2cceec2nl
[Xx]Cclccee2nencl2
[Xx]Cclcce2nenc2cl
cl2ncnclec(cc2)CIXX]
c12ncnclc(C[Xx])ccce2
cl2cccecln(cn2)CIXX]
[Xx]C

C(O)[Xx]

CC([Xx])C

CCC[Xx]
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